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for j-y 2 oe2 . Differentiating (3) with respect to 6 yields
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which vanishes if Âp=pfe. Thus, ac( j/ai =ac *(.)Iaj=o which suggests that ag(*)/ao =0. hereforeg(.)

is independent of () and the consumer's choice problem doesn't depend on uncertainty if

p=p/Pe .

Proof of Proposition 3. From Proposition 1, it follows that ag( j/8E(p *) >0. Differentiating (3)

and (4) and combining expressions yields
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where the second bracketed terni is unaxnbiguously negative. If I<ple, then aE(p *)Iay2>0

which implies that ag(.)/8E(p -»o0. Therefore, an increase in y2 causes an increase in g(.) ifF<p/e

er hand, F>,ple then 8E(p *)/ay2<0. In this case, ag(*)I8E(p -)<o. Therefore,

mses a decrease in g(.) when F>ple as maintained in part b.


